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;’ou\geaks and Normals
O The Curve € hao C/d’/daé[(cﬂ jrzl— leac + 7

o) F iflcl the ec]azaélon ,-,/, the éa//!ﬂg»(.! f() C al (//4)
'b) Find the ec,/,uaéim & the nermal to ¢ at ( i)

2 F;nd the e’/uaélm ¢ the langent  to éhe\ crve
) (f 7 él/’é“ /70//16 (4‘/ /g)

L) = 16 +3x +2 “a

X

3) The curve y=2x -10x +/(r;_ : Pah% P has coorlnates (’5’,4) ,
Fiad the  equation of  the émﬁewf at P

4) F/;fzcl the e:ia:aéém ,O[ the  ormel to the curve
j: 3x>-8x+7
when x <=2

'7) The cure ¢ has ez/ua&m Y= -9 + 3

(b) ik & lLes on € such bhet ” the jfacﬁa}zné of the nomal
bo €. gt ® A | \

S

-
find the x coontinate F

) Fod bhe epubin o be bk bo bhe cune yalribut
ok the Po/i\,(: oith, L. y

7) Find  the guakion  of the nomal o bhe cCurve fj‘é +1x -7
at the pcm,l: (2,3) x* %

3) The curve € hao equabm 3’: x*- % + 10

c‘) The PO\{LL’ P .has_ coorclinabes <3,-5> and (us on C. Find
the equaﬁm F the nomd +to < abt P.

b) The po;hl:' QR las n ¢ and o such that b 6arg§;m6 to
C okt R has equakion

321434:1-(; whae ¢ o a  constent

Fad the coduiabes of Q@ and  the value oF ¢



C?) The curve C heo c’qaazéc‘m y= 3r Gz + |

fird  the a,;wa&m of the émywé tbo ¢ at e pomnt
when « = 2 ‘ '

Io) /[/nc( the eg,«mb‘m 07; f/lc, nomal  fo b curve
s 2x - 8x + 13

at bt Po[/\,t oth x value of 3.
”> The cwve C  hay ec;ucc(’:icr\ :’ = xr-ba+1

«) The poit P, chose x codmnate 5. lin o the cune.

Find  the equatin o e éa/\jezzl’ T s B
b) The lue L has e'q,aa&m Yy :3/— x = 2
Find éhe 2 inkersecbin pcr/uis & C and L .
Shaw that L in [acé the nomal Eto C  at one
of the inkersectin /)orklf:s_

12-> find  the a/‘;accér'm o the fanjmf to the curve
7‘= 3x*-/ex + 13

whan x =3 .
té) The cuve C  has euabien 7 = Rx*=[Ix + 13
W) Fad bhe equabin of the tugumt to C at P(2,-1)
"b) The poxk«i‘ & Lo an C such bat b ﬂ radiont o
be pomal to ¢ ab @ L. find  fhe “value of @ .
14) The cuve C o Yy = Gl'li"bl + & |
At the pomt s 22()3) b gradent of the nommal i -

Calcalate bhe valugs of G and b



